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Cost Accounting

Time 3 Hours] [M. M. Regular 85/ Private 100 / Old ATKT 70

AT : WU 31, & qq1 § Tt faenfdal frafi b wedz vd sitew w8

& fou sifard &) gdts |ve § i 12 fEe & ures =t i &
fad sim farer e weaws § uid e e

@WUE H : GEITS Section A : Objective

1.

a2

_ [ Reg. 15x1=15/Pvt. 15x1=15/0ld ATKT 15x1=15]
A o $iw U9 g9 usmkvey sifufagy wa ary faar -
When the ICWA Act was passed in India

(a) 1970 (b) 1949

(c) 19{59 . \ (d) 1969.

AN AETHh 8-

(37) ©i@i® @ A (o) EIUTEA & AT
() fHRgoT & 9 (z) sudw wdh

Cost Accunting is :

(a) A Part of Accounting (b) A part of Book Keeping
(c) A part of Auditing (d) All of the above.
Tee JAt -

(31) fafrft @ (%) wemafTs aa

(®) fashg T (%) famoor @)
Direct Material is a :

(a) Manufacturing Cost (b) Adminstrative Cost
(c) Selling Cost (d) Distribution Cost.
q& A & AW F ot S S -

(37) Jeged nrd (F) 3age @rd

(]) Y99 AT (%) ¥ & &g 7
Prime Cost is also knwon as :

(a) Direct cost (b) Indirect Cost

(c) First Cost (d) None of these.

af% Yo @G 50,000 F. T FEE@ET @FTGE 70,000 F. @ K
Fratea e FaT 39erd & S0% & al SEes anTg ani-
(37) 80,000 . (T) 90,000 &.

() 1,00,000 &, (%) 1,10,000 .|

If Prime Cost is Rs. 50,000, Work Cost is Rs. 70,000 and Office
Overhead are 50% of Factory Overhead then what would be the
Prodcution Cost:

(a) Rs 80,000 (b) Rs. 90,000

(¢) Rs. 1,00,000 (d) Rs. 1,19,0(}0
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Yt qUeT X i srEir & uw vafd 8-
(31) faao Iufewy (9) fame Iuferg (W) Wemed 3ufEd (])

FET 39T

M. H. R. is the Method of Absorption of :

{a) Distribtuon Overhead (b) Selling Overhead
(c) Adminstraion Overhead  (d) Factory Overhead.

3 WA F IH qoF @ I GAT HEZ FW §, 79 3H-
(=) gt & () el &
(|) @ guf & () 37w & F W 7

Contract Account is credited with Contract Price when the con-
tractis:

(a) Completed (b) Incompleted

(c) Almost completed (d) None of these above.
3 @A & S 9y H S Tand- -
(27) &g g fffaa gt (@) s 9 g
(%) scged gl (%) &4 & ¢ wr

Enumerate the credit item of Contract Account.
(a) Material Issued from Stroes (b) Material at Site

(c) Direct Material (d) Material Purchased.
ot fafi s &t et @-

(1) grarae =Eay o (%) gl HaaE 3

(7) reqarel ® (%) 3w it
Operating Costing Method is used in :

(a) Transport Business (b) Hotel Business

(c) Hospital (d) All of the above.
AR e §H I 3 g 8-

(a1) frarg () T

(®) 7z (%) g @t

Normal Wastage grow due to this reason :

(a) Leakage (b) Shrinkage

(c) Breakage (d) All of these.

40 FHEE T WA UG AN 400 F. €, A1 2 THEAT i WY
4 & [y g

(31) 20 & () 4 ®.

(¥) 8 & () T | T 7L

Normal product cost of 40 units is Rs. 400 then value of abnormal
wastage of 2 unit will be

{(a) Rs. 20 (b) Rs 4

(c)Rs. 8 (d) None of these.
fafafiga ¥ 4 @t @ w2 ama ad) § aftufad & srd §-
(31) IR (%) 37w gATOT Yk
(R) afs ana (%) 3% & Fg Al
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Which of the following item is included in Cost Account.

(a) Income Tax (b) Share Transfer Fees
(c) Causal Income {d) None of these.
13. fe fama 5,00,000 & irslkawmmaﬁqmsoebﬁ?ﬁwﬁaﬂavﬂa
A ghft-
(31) 3,00,000 &, () 6,00,000 &,
(¥®) 2,50,000 ®. (2) 1,50,000 ®.
When sales are Rs. 5,00,000 and P/V Ratio 50% than Variable Cost
will be :
(a) Rs, 3,00,000 (b) Rs, 6,00,000
(¢) Rs, 2,50,000 (d) Rs, 1,50,000
2 14. famg- vfgdasia arm = ?
_§ (31) Tardt & (%) 3w
oy (|) = (%) fowpal
s Sales- Variable Cost = ?
S (a) Fixed Cost {b) Contribution
g’-» (c) Profit (d) Sales.
© 15 @A siEkes & i A e e
S (31) U9 | U (&) ¥ T T
(W) Harerd WUEd g (%) &0 | foelt & g
Cost Auditor is appointed.
(a) By State evernment (b) By Central Government
p (c) By Board of Directors (d) By any one of these.
Z FUT F. WY I9IG Section B : Short Answer
5 [ Reg. Sx4=20/ Pvt. 5x5=25/ Old ATKT Sx3=15 |
< 1. TG GG § 9 Nged 87 .
S What is the importance of Cost Accunting?
= Fgar OR
Z A AR I2YE qAEY
= Explain the objects of Cost Acconting.

2. TG UF & WY T Sy
Give the Proforma of a Cost Sheet.
Hgar OR
fafeg o =1 82 399 AT 9 1 9 87
What is Tender Price? How is it calculated?
3. IHEEF AN W H I fAGU
Write Debit items of a Contract Account.
FOA OR
I9-3F FIE T 87
What is Sub Cogtract Cost?
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QT &7 T E?
What is Normal Loss?

TR = 87

What is By Product?

e S = g 87 3 9w

What is Margin of Safety? Give formula.
| agar OR

Tl fawg =1 8 &7

What is Break-Even Point?

AY4ET OR

@UET ¥ : Y 3AUT Section C : Long Answer

{ Reg. 5%10=50/ Pvt. 5x12=60/ Old ATKT 5x8=40 ]
T & ool § S I §EEG €7 T & (aeF S @l G e
HHARE
What do you understand by Elements of Cost? Explain the vari-
ous elements of cost in detail.
99T OR

TS AWEA F YA QAT A I T 3R e sy
Define Cost Accounting and state its nature and importance.
X & we e g9 3 &

=TT 20,000 ¥9E, ¥9 30,000 T, 39 &F 500 T92, IWET
FEE TR 1,000 TUY, FREE INEET 22,000 TOR, HEEE
39T 18,000 T4

Y T ¥ FA g UF HeL0 U 59ET

The Accounts of X Co. show the following.

Material Rs. 20,000, Labour Rs, 30,000, Other Exp. Rs. 500, Ab-
normal Idle Time Rs. 1,000, Factory Over head Rs, 22,000 Office
Overhead Rs. 18,000.

Prepare a Statements Showing Cost.

[HAT OR
TR HT B YR H UE A I
Give Specimen of Computation of Machine Hour Rate.
Tr=felas fFa ¥ 29 BT a9E-
ST 40,000 F9T, TS 27,000 ¥, WIUZ 18,000 T9E, =IE
e 2,000 T97, 2R &9 3,500 395, ¥ YE@E S 2,700
¥, IH T E TH E, 35 3 F99 1,00.000 9 I g 8
F TET T WAH 2,400 FUI, W GEE HWW 900 ¥9E, W
T 15,300 T
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From the following particular prepare a Contract Account.

Materials Rs. 40,000, Wages Rs. 27,000, Plant Rs. 18,000, Stores
Issuded Rs. 2,000, Loose Tools Rs. 3,500, Other Direct Exp. Rs. 2,700.
Contract was completed. Contract Price is Rs 1,00,000. After
complation of contract there were remaining items. Rs. 2,400,
Loose Tools Rs. 900, Plants Rs. 15,300.

RS OR
TF EEE T wE T TEENE e wiEe SR S

Prepare a Transport operating Cost Sheet, with imaginary fig-
ures.

TEa ¥, 4, ¥ & 5T ayess = & iy w9 e
Fo T 79 8,500 TF, ¥¥El- FHAT H 8,000 T, NHEA I
20,000 T2, WHEE T 6,000 %1

Find out the amount of Indirect Expenses of Process A, B, C.

Total Indirect Exp. Rs. 8,500, Wages of Process A Rs. 8,000, Pro-
cess B Rs. 20,000, Process C Rs, 6,000

AT OR
FE TREIEA 947 ST AEee & gaoE 3 ST & SR § 1@
HfTT

State the reasons for disagreement between the Costing and Fi-
nancial Return.

fo=rifsa =1 § U FISC- Calcuate from the following infor-
mation. -

(37) TT9-HET 39E (Profit Volume Ratio) |

(@) st & o 9 fa=sg fg (Break Even Point for Sales) |

" &4 (Year) famt (Sales) M (Profit)
¥YT Rs. ¥7T Rs.
2011 1,20,000 9,000
2012 1,40,000 13,000
’ HAYET OR
T ST & ILVE @ e
State the objects of Cost Audit.
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